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> HEeHl 150.72.cm?
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(27152 2Hol)
= (ZYo]) x2+ (FHol)olEE

EolE[ et std

10X 10x3.14x2+2x 10 x 3.14 x| |=1193.2
628 + 62.8 x[_|=1193.2

62.8 x| |=565.2

[ ]=9(cm)
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> & 1921.68cm3

(6% 6 x 3.14) x 17 = 1921.68 (cm? )
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(87159 =ol)= (F)+ (B0 )‘?J‘/]E’r.
665.68 + (5% 5 x 3.14) = 8.48(cm)
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(U] Hol)= 10 x 10 x 3.14 = 314(cm?)
(9 9] Hol)= 20 x 3.14 x 50 = 3140( cm?)
(B4lol) =

(2R yol)x2+ (Fwe] Yol)
=314 x 2 + 3140
= 3768( cm?)
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45— 45 = 100 (3)
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22. b AAZGOIA (8 Lw): (8 wE)= 2] 30 AUk A4

ol Yol7} 120cm? U uf, AckalE @po] Wol2[ Jem? @t &
[ lgwre 45 oL

_-8cm.

e \écm\ =
@ @)
v 4 -
@® 63cm? 2)65 cm? ® 67cm?
@ 69 cm? ® Tlem?

1 1 5 7
Hig): (Huo)=2-:3-=-:-=5:
(8 Lm) (B uE)=22 35 =25 2 =5:7
H1Le9 ol 12cmo|BERE
HL w9 Zoj 12X%:5(cm)

Alze] do] 1 (del) + (71=)
=120 + 12 = 10( cm)
@2] Wol : (8+5)x 10 +2 = 65(cm?)
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A ] 7t o] dol=
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O

5cm

O

@ 79.52 cm? @87.92 cm? ® 92.86 cm?

@ 100.48 cm? ® 121.88cm?

(U] 9F)= (60.24 — 5 x 2) + 4 = 12.56( cm)
(RH Q] BFZ] 5 )= 12.56 + 3.14 + 2 = 2(cm)
(BYlo]) =2x2x3.14x24 1256 X5

2
25.12 + 62.8 = 87.92( cm?)
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B
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8X8x3.14x 2+ 16 x 3.14 x[_| = 1406.72
401.92 +50.24 x| | = 1406.72

50.24 x[ | =1004.8

I:’ = 20(cm)

(27159 Ho]) =8x8x3.14x20
= 4019.2(cm?)
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(9% 4759 Hu) =5x5x3.14%6

= 471(cm?®)
(LEX 97159 1)) =7x7x3.14x10
= 1538.6(cm?)

5 97159 2] o] A
1538.6 — 471 = 1067.6(cm?)
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[ Jx13x13+100x13 =] |x11x15+100x 15
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150%H x L =609

1507 x| = 609HeIx ([ [+3607H)
15099 x [ |= 609X +21600 7+
(1507 x| J) - (607 x[ |) = 216009+
907H x[ | = 216007+

[ ]= 2160071 + 90%H¢) = 240%F
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T-37.68cm™
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[> ®ehl 527.52.cm?

Ut

B 89 gAEs dol

ol

= 1= 1=

37.68 +3.14 + 2 =6(cm) 0|22

Q7= 94l;;—o]L32 (6 x2) x 2 =8(cm) YUtk

—
m}L

Hol) =6x6x3.14x2+6x2x3.14x8
= 226.08 + 301.44 = 527.52( cm?)




20cm
30cm - =
m
=
T
(&4)) (H

(7FFol &2 =9 #1)

=15x 15 x 3.14 x 10 = 7065( cm?)
(F9) = (BWol) x (&°l)

(o) = (1) = (2ol

(U Bl &2 =9 &°l)

= 7065 + (10 x 10 x 3.14) = 22.5(cm)




32.

o2 293 Zo] Eo] 715 59 = 97152 45° 725U
EFN IS E2 2 em® YUY
5cm RN
/_j\ 4 N
- £ 2 // // N
v\ / Ve N
\ / 7 \
\
\
12cm
]
I
=TT T T~ / o
N 457/\

H5XH5%x3.14%x2+5%x5x%x3.14%x10+2
=157+ 392.5 = 549.5(cm3)




o2 HEEFS 1 97 5te] doj2)E Y=o By ols AL
S
2cm
S0 O
3CIh
\\
,
/
3cm
\
\ —l |—
S ~4cnr
> I-__I:I'-: Cm2
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(4x4%x314%2)+ (4%x3.14x3+8x%x3.14x3)
=100.48 + 113.04 = 213.52( cm?)




